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Figure 4. The evolution of the reduced density matrix for the PE545 model obtained using the non-secular
Figure 1. The evolution of the reduced density matrix for a lhree-r\yevel quantum sys:fm obtained using the o 5o i N ) (S 17 W —
= ‘F'"“'" a",f] R“"‘E'“ forms) with I g (wmn) (a) and I s (eimn) (b); secular (aHd) a ose of figure 1. We set the the enviro density function to the Drude
equations with I'o (W) (€), and T2 (wrnn) (d). Here, we set the the environmental spectral density form, with = 12.5, 2 =1000.0 cm~", and T= 300 K. The initial state is setto p(0) = | 1)(1|. In equation (37),

&
function to the Drude form, with 1 = 0.125, & =100.0 cm™", T= 300 K. The initial state is set o p(0) = [1){1 . Do
In equation (37), N'= 100.
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